~ FABR042
~ FABRO060
_~ FABR090
~~ FABR115
_~ FABR142
_~ FABR180
~ FABR220

Series

SEIKO QUALITY

SHARED GLOBALLY

BBt kL=

013




&I =358 MODEL ILLUMINATE

__________________________________________________________________________________________________________________

RS, U ER .

I : OikRE.
FABRO42/FABROG0/FABRO90 b S1: FEEH DR e
FABR115/FABR142/ FABR180/FABR220 P S2 : e
TRIELL : P =
BAB(L1): 3,4,5,6,7,8,10, 14, 20 b s
LK (L2): 15, 20, 25, 30, 40, 50, 60, 70, P E; : i’i—‘“&i{g
80, 100, 120, 140, 160, 200 Do o Lt

__________________________________________________________________________________________________________________

%G H: FABR090-10-S2-P2 / MHMD-082G1U

014



dgv4d

1 8& —~FABR & #l

|t |8 ) s | sk | FAGROR| FABROSO| FABROO | FABRI 1 | FABRI42 | FABRIS0 | FABR220|
3 130 1140
4 19 50 140 290 542 1050 1700
5 22 60 160 330 650 1200 2000
am 6 20 55 150 310 550 1100 1900
7 19 50 140 300 550 1100 1800
L1 8 17 50 140 290 542 1000 1600
10 14 60 160 330 650 520 1220
14 = 50 140 300 550 1100 1800
20 = 40 100 230 450 520 1200
12 - 55 130 208 342 588 1140
15 20 55 130 208 342 588 1140
20 19 50 140 290 542 1050 1700
- 25 22 60 160 330 650 1200 2000
B 18 Tan Nm 30 22 55 130 208 342 1200 2000
35 22 60 160 330 550 1200 2000
40 22 50 140 290 542 1200 2000
WR 50 22 60 160 330 650 1200 2000
L2 60 22 55 150 310 600 1200 2000
70 22 60 160 330 650 1200 2000
80 22 50 140 290 542 1200 2000
100 22 50 160 330 650 1200 2000
120 - - 150 310 600 1100 1900
140 - - 140 300 550 1100 1800
160 - - 120 260 500 1000 1600
200 - - 100 230 450 520 1220
ERHIENIKE Te Nm L1.L2 3~200 3 FRERE N
FEBmANEEE N, rpm L1.L2 3~200 5000 5000 4000 4000 3000 3000 2000
BABMNER N rpm L1.L2 3~200 10000 10000 8000 8000 6000 6000 4000
. ) L1 3~20 - - <2 <2 <2 <2 <2
B EHR PO aremin =5 15~200 - - <4 <4 <4 <4 <4
) L1 3~20 <4 <4 <4 <4 <4 <4 <4
mEHR P1 aremin 5 15~200 <7 <7 <7 <7 <7 <7 <7
e ) L1 3~20 <6 <6 <6 <6 <6 <6 <6
TRH R P2 aremin 15200 <9 <9 <9 <9 <9 <9 <9
LR M Nm/arcmin L1.L2 3~200 3 7 14 25 50 145 225
BFREEAN Fop N L1.L2 3~200 780 1530 3250 6700 9400 14500 30000
BUHE S Fo N L1.L2 3~200 390 765 1625 3350 4700 7250 14000
FRE® hr L1.L2 3~200 20000°
. L1 3~20 = 95%
M % 2 75200 > 9%

- L1 3~20 0.9 2.1 6.4 13 245 51 83
B kg L2 15~200 1.2 25 7.8 14.2 275 54 95
FERERE C L1L2 3~200 -10°C ~+90°C
0 L1.L2 3~200 ARUEB S/ 4508
FripER L1L2 3~200 IP65
ZEHN L1L2 3~200 BT
2&1{E (n,=3000rpm) | dB L1.l2 3~200 <61 | <63 | <65 | <68 | <70 | <72 | <74

188 -FABR &iE#l

0.09 0.35 2.25 6.84 23.4 68.9 135.4

L1 8~1O = 0.07 1.87 6.25 21.8 65.6 119.8

EHiRE J, kg - cm? 14~20 = 0.07 1.87 6.25 21.8 65.6 119.8
P 15~100 0.09 0.09 0.35 2.25 6.84 23.4 68.9

120~200 - - 0.31 1.87 6.25 218 65.6

1 RIREE (1=Ng/Noy ) 2. By 100rpm B, {EATH PO E 3 ESEHERERES Dz —

015



4pE R~FEl% /OUTLINE DIMENSION SHEET

FABR-042-L1

BINIH/INPUT 109 fttim/ OUTPUT
26 83
19.5 4
By o8 >
Y %, 514 < &
I Bl e |- — 1 — g 5
/ 8| [ 1 =
/g § s =t | P
f 1 1 1D |
s i
_ - I S T
| O <+ &
e |
T T
D8F7
@3067
FABR-042-L2
TSR/ INPUT HiHis /OUTPUT
1325
2 1065
19.5 | 4 S
= 2514 D - %527 5
= 8§ D</ %
Qe — 71— IO
o
- - 7 S | ¢
- O ) ]
—] D <
|
5 i
- — |
‘ o 1€ — T —
|
2851 '
3067

i HH
5h9

] M4x0. 7P

A St A s2

ANDIAEER R RIS P 2R R,

*The input motor specific dimensions could be customised,

016



dgav4d

FABR Series

4pE2 R~FEl% /OUTLINE DIMENSION SHEET

FABR-060-L1

BN/ INPUT 53tHi%/OUTPUT
C9
c7 37 C8
28,5 6 160
P O=IX B /
7 , o = b2 q
/ 2 E N\
+ = S - - - w
e 8= N 2
S OI $ ‘&75 ' O -
I C2 I L:)

Cl
C10

FABR-060-L2

BN/ INPUT HiHim/OUTPUT

C9
C8

0160

A\l

@50n7

/]
O\,

C12

c1
Q
g

|

| d

_!1‘@_
C4

C10

i

5h9

1

FABR-060 -L1 86 53

1008 1508 266.7 4-M4x10 @8 33 @381 5 60 55 775 107.5

2| FABR-060-L2 15 182

FABR-060 -L1 86 153
@70  4-M4x104-M5x12  @11.@14 33 @50 5 60 55 77.5 1075

FABR-060-L2 15 182

WA S1 AR S2 FABR-060-L1 8 163
@90  4-M5x124-M6x14 @19 425 @70 65 80 12 87 17

FABR-060-L2 15 192

* C1~CTRABIWREDIAEE R RS AT REE P ERBIREM.

* C1~C7are motor(metric standard) specific dimensions, which could be customised,

017



4pE R~FEl% /OUTLINE DIMENSION SHEET

FABR-090-L1

c9

BN/ INPUT 48 c8 iR/ OUTPUT
oc? 36,5 8 090
U 28 B D { \ %
A= 1 A N 3 i
° 19 \) S \q\)\@ &/
= | s ~ &
s = | O S NN 3
I { =
c2 10 0 ° , N2116
| 1 1 | < | | |
[&] T
L 1© -
s
Cirr ol o I
Cher © o
FABR-090-L2
C9
BN/ INPUT 18 s s /OUTPUT
36,5 8
U 28 05 /‘\
N
z o LN
g = N>
19 ) S
._.15 : D) i 5
0 ; % '_! I O
FiTeqr
O]
LSF © =)
(&)
Cha7

fHH

M8x1.25P

@22n6

A S1

_o_
M8x1.25P
<

@22h6

245

WAL 52

N R N D

290 4-M5x12,4-M6x14 45 @70 65 80 116 209 141

@100 4-Mex14 @16 45 080 65 86 116 209 6 96 141
FABR-090-L1

@15 4-M8x20 219022 565 ©95 8 100 116 214 16.5 11751625

@145  4MBx20  ©19,022024 59 @110 11 130 116 229 19 120 165

@667  4-M4x10 @8 33 ©381 5 60 1305 2085 55 77.5 1225

@70 4Max104M5x12  ©11,014 33 @50 5 60 130.5 2085 55 77.5 1225
FABR-090-L2 X X

290 4-M5x12,4-M6x14 @19 425 @70 65 80 1305 2185 12 87 132

@100 4-Méx14 @16 425 080 65 86 1305 2215 11 87 132

* C1~CTRASINEDIAERRC R T IRES P ERAMEM.

* C1~C7are motor(metric standard) specific dimensions, which could be customised,

018




4p2 R~FEl% /OUTLINE DIMENSION SHEET

FABR-115-L1

dgv4d

BN/ INPUT HHi%/OUTPUT
C9
65 C8 e
51 10
5| 40 | ﬁ\ 5
SRt [N —— I
s ! /
2 |2 | e} o &
—D ; 5
12 | s 5
T
e 3
I -|'-: ------ N
C567
FABR-115-L2
IR/ INPUT c HiHER/OUTPUT
65 C8
51 10,
T
N
5| 40 | ‘q?
- N
S| -FE=y --14--1----- N
E PN\
2 |2 : D e o
g 2 - _
12 :_:L: S
o 1 @
- (HT-AE

10h9
M12x1.75P M12x1.75P

35

R+ o] o2 | oo losl oo lcolorlcel oo owolcr

2145 4-M8x20 219,022,024 64 @110 10 130 137.5 267.5 19.5 135.5 193

232n6 232n6 FABR-115-L1

@200 4-M12x28 @35 81 @114.3 10 180 1375 2925 28 1525 210

IR S 1 AR S0 @90 4-M5x12,4-M6x14 219 45 @70 6.5 80 16752775 7 96 1535
SR @100 4-M6x14 16 45 (@80 6.5 86 16752775 6 96 153.5

2115 4-M8x20 219,022 565 @95 8 100 167.5 282.5 16.5 117.5 175

@145 4-M8x20 219,022,024 59 @110 11 130 167.5 297.5 19 120 177.5
* CI~CTRABIREDINERIRZ R FIRES A EREIRER.

* C1~CT7are motor(metric standard) specific dimensions, which could be customised,

019



4pE R~FEl% /OUTLINE DIMENSION SHEET

FABR-142-L1

ENIR/INPUT o i/ OUTPUT

97 C8

@130n7
1
HA
K
RN
1
|
1

Awaniig
% | 3 ! S
_hs[” rt z
| il
D e
Cher
FABR-142-L2
I Nim/ INPUT s /OUTPUT
co
97 c8
2186
79 2 0142 Pt
E 65 )
| {] \
P I kit SN | I P N I N A IR |
s il | ) =
o 0§
% | 3 . b i @) 5 VL
[ N |
= [ 5|
:_11@ 3
po- -1 2
,§FJ ©
Cher

M16x2.0P M16x2.0P
| -
FABR-142-1 145 4-M8x20 022,024 72 @110 11130 170 338 19.5 150 221
@200 4-M12x28 @35 82 @114.3 8 180 170 357 25 160 231
&Hﬁ__ﬂit S QE;__‘F.QK S2 FABR-142-L2 145 4-M8x20 219,022,024 64 D110 10 130 202.5364.5 19.5 135.5 206.5
@200 4-M12x28 @35 81 @114.3 10 180 202.5389.5 28 152.5223.5

* C1~CTRABIWNEDIAER IR R, A iRiES A EREIREM.

* C1~C7are motor(metric standard) specific dimensions, which could be customised,

020



dgav4d

FABR Series

4pE2 R~FEl% /OUTLINE DIMENSION SHEET

FABR-180-L1

N/ INPUT <
a1 105 c8
82
I >( - T
s =P &

#160h7

Lo\

i R v S [ —
| o/ ~)° =

ftim/OUTPUT
180
=4 ©

45

o

&7
) UK
AN

W | 3
N R — o
D = © ﬁfg\—ﬂ . = B ——\c o
Q@ 20 = 4-913%1,/] N
I < I |
)
| o | | |
1 1
o1 O
(567
FABR-180-L2
BN/ INPUT ) tHim/OUTPUT
7 8;05 C8 180
Ayt | 2
S g0 o g | ! Sy
I O25 L3 B =]
o= RE R
|N@ERR W)
NS s N e
{ ? W[© § 42 30 )
4 N [ %.
=] ) | D | = —
T J 0®
a Q 20} [ [ F
o 3
(— 1lE
N
(5G7
HwHH#E
et Rt C1| C2 | C3 |C4|C5 |C6|C7|C8|C9 C10|Ci1|CI2
/I—_I M20x2.5P @200 4-M12X28 @35,042 82 @1143 8 180 210.5 4055 85 214 304
Va
200 4-M12X28 @42 117501143 8 180 210.5 4055 455 249.5 339.5
" FABR180-L1 2 2
@215 4-M12X28 @38,042 87 @180 8 192 2105 4055 15 219 309
#55h6
@235 4-M12X28 @38,042 117.5 @200 10 220 210.5 405.5 455 249.5 339.5
AR S1 AL S2 @145 4-M8X20 @22,@24 72 @110 11 130 246 422 195 150 240
FABR180-L2 @200 4-M12X28 @35 82 (1143 8 180 246 422 25 160 250
@215 4-M12X28 @38 82 @180 8 192 246 422 25 171.5261.5

021

* CI~CTRARIREDIAEERZ R, AR A ERKBIREH.

* C1~C7are motor(metric standard) specific dimensions, which could be customised,



4pE R~FEl% /OUTLINE DIMENSION SHEET

FABR-220-L1

BN/ INPUT 484 it/ OUTPUT
138 346
105 20 0220
1=
= - 7 %0 D o Xs, -
— (5\0 ] 3 o
i z 5 SISO |V
I == | — )R
o m = < OU :
— v 423 [ S T )
=8 ) ! ’ N
I
4-M12x30 B \ |
— ! — S— | e
O . |
1 %
~I|
@55F7]
@200G7
FABR-220-L2
BN/ INPUT o % /OUTPUT
138 383
105 20 0220
i T~
/ 7 90 ) [ = %\o
/ I ~ %) D@
| s A0 A
sl =3+ ——H+H-—1t— 1 )
Il s | - P )
= 0 &
// 423 . 1 ‘ S < A N
I 4-M12x30 . =
30 \ " [ | ]
i 5]
| 21 | ]
I | S |
I ' I
@35¢7|
@114.367
g H 12

M20x2.5P

AT s1 AR S2

IADREER R FIHRIES P 2R AR,

*The input motor specific dimensions could be customised.

022



